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Select the correct answer in questions No. 1 - 25 and write its number on the dotted line.

(1) onfbe0dd, gadH, cumiteddd §8s 08 drews! gres Oulesl vwn weps! OB Bdm ¢?
G pet, egGured, QFFETpHe AW HoD HFHwT5sE GaTeRiherensg & ?
Which of the following conmsists mostly of quartets, trios, sextets etc.?
(1) Concertos (2) Suites (3) Operas
(4) Chamber works (5) Symphonies Caso )

(2) s B8e s o emecsdded, sun weusl J08s RO ¢?
eveuTh Qermer erbSQeun(s BLAmwuh wpsAwSFeIIBRSSTS Lilesreu (peueuTed Hmie 6T P
Which of the following does not signify any lengthening of a note?

(1) Tie (2) Pause (3) Staccato (4) Lunga Pausa

(3) ‘98edxy O gres Ozies’ v wewH SOOE OB0ORS ®m ¢?
wrGyrar @erepds Gsmav@erer @erGraed Blar s el GalaTalppieh TG P
Which of the following kinds of intervals will contain a ‘Tri-tone’?
(1) Dlmlmshed 4t (2) Major 6th (3) Minor 6% 4) Augmented 4™ (5) Perfect 4

(5) Dot )
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(4) ¥ben Dmews? BB ¢emm HIOOE dmn ece Sdmd Y CATIEs sum wews!? J0o8s O ¢?
Benpeurs Qalésy saugsdumar QeiGraed ReTprs alaféssmy wg LNere(meerel Doer 6T ?
Which of the following could be described as an interval that appeals to the ear as complete?
(1) Chromatic (2) Consonant (3) Dissonant
(4) Augmented (5) Diminished ety )

(5) cund OPBs? HBLD Osler swm ©eHs w-Bn WIRDOEE O wewo ¢?
Oy Gueydar LspOLDDEG Nara@h Qoss sEpalseaper o Ha ?
Which of the following instruments is Yehudi Menuhin famous for?
(1) Guitar (2) Viola (3) Violin (4) Piano (5) Trumpet [ )

(6) & o RSOE e ¢l emides Oxlest swm JO8z3 @ ¢?
Dys @y @ suogsew’ @pe @euled Lflans Samwag e (saere el g ?
Which of the following is the section between two subjects in a fugue?
(1) Stretto (2) Episode (3) Development
4) Coda (5) Bridge passage (i )

(7) Bmecd dmm 883 Cuwd meom 80, 90 endd dm Buwr cosidsies’ sun tewsd S8 0K ¢?
1&3anBeur ey LAy &0 Cgys Fajeiig m GBI YeoupiBLng) eT(psismig.w GBI s Senoad) Lo malera pmjeir

TG 2
Which of the following is the written note when the soundmg note on a P1cc_%c3 is Middle C ?
LD Y <
5 =
bo Ly
ey @ 3) “ ®) G....)

(8) wum wews? $018s3 g0® PV ¢ 0D O ¢?

LAlevreu (e esteu MMIeT 6T&| (GHEDAUTET GSTL FLIenL WG] ?';.:.:'

Which of the following is least related to W%
(1) Morendo (2) Perdendosi 3) ido (4) Rallentando (5) Decrescendo ... )

(9) e ¢ O3B BAesIOY amd BOIGFO Bwr &8 B O @ &?

Sl enguflth ﬁa@m&g@ésg g pu LesralBLd LT H@merr arp‘hum% sr@pguu TG ?
According to the given ti r ectly?
A i) _ (v.)
h2 %0, & S I I N P = | == T =
==y 4 (=== [ . [ ——

M @ (2) (i) () (i) @) () & ™ Gonee)

(10) ‘&es” OGO ¢0® @@L Fies sun ews! JD8s O ¢?
@ QDG 1055 GODaITS FLDUBEHLIOL WS Lesraumeuerel Hmelr 6Tg P
Which of the following will have the least bearing to Jazz?
(1) Rag-time (2) Programme music (3) Boogie-woogie
(4) Syncopation (5) Blues G )

(11) OSenwm wewo ‘@ S0 goey Oles’ sum wewsd 0853 O ¢?
@ pirsaEssTaT T QRTDIS &F APLILTS aflleuiiLg) Lietral(euereu Hmieir 61 ?
Which of the following would best describe a Mass for the dead?
(1) Requiem (2) Funeral march (3) Fugue (4) Cantata (5) Oratorio (oninnn )

(12) 2008 0 B8 00O emodBded sun wensd D8 @ ¢?
@reyLer Apgenal QST Yoed GCST_FUDHDE Lol heseiaHmeT 6Tg ?
Which of the following has little or no connection with voice?
(1) Opera (2) Sonata (3) Chorus (4) Aria (5) Cantata (0 )

(13) 0:Bn woedd) BBvwn wemd w:dn B0 gemdeon 880 »esidy CATi s sun tews! 808z OB ¢?
Qavss ol misenen Qeves spalselar avomiseier @uprdamar B iLBSseg LaaiGasrabner g ?
Which of the following would indicate the arrangement of instruments in a music score?

1) Melody (2) Harmony (3) Symphony (4) Orchestratlon (5) Counterpomt ... )
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(14) =05 senst 3088 ‘Vedd o BDEOCO @50 Fuimds DOWe Hoeded griie RO ¢?
LilevrauFeuee el GABLIMT QRETTHET 26T ZGIONES RSSH16F QFwH IR GIed 2 LiSTesL UGHUTS g 61 »
Which of the following parts of the vocal apparatus corresponds to the reeds of an oboe?

(1) Lips (2) Wind pipe . (3) Lungs (4) Mouth (5) Vocal chords (...... )

(15) B8u® om0 200 dmews gedn OFer’ swn wews S8 RO §?
TSR HIBLeD AsE Gepks Jeraferalg GTLILlmers GaTesiberens Letrev(heuestel D6 6T ?
Which of the following has the least connection with any particular country?
(1) Mazurka (2) March (3) Bolero 4) lJig (5) Tarentella (Simes )

(16) = sews? »® 08 =8oean igmire » =dIFD et xR®» @ §?
LhesreupLd Quiw i semelr sessiesf] GOGTELIMT(EE@BL 60T FLOLIBFULPEnL WG 6T&| ?
Which of the following names is associated with computer software?
(1) Alberniz (2) Delibes (3) Borodin (4) Sibelius (5) Delius Cotimsniit )

(17) ‘B §;Fe0 O wewo 00 © gegy ewe® sun wews JO8s RO ¢?
Bied YHEmT uPK BsL QUMTBSSLOTET LGh LierelFeleired DmieT 67 %) P
Which of the following is the most suitable term for a male alto?
(1) Baritone (2) Bass profundo (3) Contralto (4) Counter-tenor (5) Treble (e )

(18) zom wews’ 008z ‘@ieasild’ dm Oxfes? ¥ &2
LAevreupetered Hmyer B S eTeiiLIg) TG P
Which of the following is an Abendlied?
(1) Evening song (2) Morning song (3) Plainsong

(4) Narrative song Gouenns )
(19) 8/8 8e® derst =OBD OB Vo Bwn Lzl J08s O ¢?

8/8 shasHemeren il GemewsBsw mHLeTh LleTal(haleral HmieT o1 g ?

Which of the following Western dance is in 8/8 rhythm?

(1) Fox-trot (2) Rumba 3) GW = Gavotte (5) Gopek (oass )

(20) V€ 6078 2 Sedns emedies’ smm €I
V¢ Gam Qe Hlener afleuiiig Lieralmaseral Hmj
Which of the following also describes a V' chord?

M 3 @ $ 3.3 48 ), -
(21) >om sensd D83 ®scEo @ a f m

tiesraupeueseu mmjer GoBeurT FA P e & ? [ |

Which of the following best describe ‘Melody’?

(1) It is a tune. 2) It is a lied.

(3) It is a succession of single musical sounds (4) It is a song

(5) It is an Aria (sisans )

(22) By oo ©dedd det 260m O5Igx ew wI8n OE CAD cwue® sun BT o8 P Og?
Lhyé eTepib &FL1QRSMH Qe 2gag ererfdens LweTL®SHID LS LaTalpaleTalHneT & ?
Which of the following is the term used for the 2™ entry of the subject in a Fugue?
(1) Answer (2) Codetta (3) Counter-subject (4) Stretto (5) Recapitulation (...... )

(23) ec@ed e2B e Dot ety s we wier svn gz’ 80085 O ¢?
2 egwiLed @erm @Cupynm ermy Lpm efesliug LleTesFeieralpDmiel T ?
Which of the following could be described as an opera devoid of spoken dialogue?
(1) Grand Opera (2) Operetta (3) Folk Opera (49) Comic Opera (5) Oratorio (..... )

(24) 288D 98D Vmd Oz¥er? BSY W1 VIO OBHY e vwm g PO BF e ¢?
g il pwl s Quslig: Gogd, anmiGmefis ey atBse yhwer LAaTeimd 6ThES g Afuled uGb ?
On which degree of the Major and the Harmonic Minor scale is a diminished triad found?
(1) 2™ (2) 4B (3) 5 (4) 7th (5) 3¢ (s s )

(25) ‘eIbDed” ezt ey CACD vvn wEYs RO DIcHidedced ¢?
awaTGevm 9 PipsiLRSSILILL & LIeTalBelerey Dpiel o SHTevdHevTGLd ?
In which period was the Scherzo introduced?
(1) Baroque (2) Modern (3) Romantic (4) Renaissance (5) Classical (— )
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@ a1 26 80 50 e ey w6 o3 88nd; wuwsim.

@evsaid 26 GsTLssD 50 eumpueien aleTTSsEREGE &F(BSaTe allL TG s.

Write short answers for questions No. 26 to 50.

(26) 609 cwd BecrcdBerd dmm Bned weslozies’ d> OB ¢?
@PBLgT yevevg RBrrHBDTAGWT eTeyib LML erLi@LIWHeh <& BipaLIRSSLILIB ST DG P
What is a song in an opera or oratorio called?

.............................................................................................................................................

(27) @086l o SBORed Bnws weEloy cATles’ emed ¢?
Q) ssrauieyb Ggiwefulleyh LML) eTaiamn < PpSLILBSSILGRST DG ?
How would a song be known in Italy and in Germany?

() ALY = coccviumeesssnsennsodinons sais as sangsinirassibabesan sainssseves b RN
(H) ‘GEIMANY  woveemscsios os ss o insoss s sn s asvanissmsswinss sssh soms ¥ sawasnn s s rorasn e

(28) ‘ex0BecnB’ 8 Bl mee @S ¢?
QuUTIBLUTeNS Qe THIL LSh WA ?
What is the opposite of polyphonic ?

.............................................................................................................................................

(29) ‘ecddetscdd” wpedsd gewed emedsiess RPN (8 B8nd wdzin.
Boumebew@QFMHBDIT eTETLIGET &H(hSS W
Describe what falsetto means?

.................................................................................................................................

(30) ‘c8Oe®8 vy O (8 emdess ©

R T

el P e e e crrcanne

(31) ‘OezociS” cpmebsl d"
TECsTalfE FEuSE g
What does Acoustics mean

(2) Sounds with high fr

(32) vodBony =8n sOmoomen o9
ansECaiwer Qs (Gmg) mﬂwwnsﬂg @@m;ﬂm Quueg s GOUILIRS.
Name 2 Hungarian Music Educationist.

..............................................................
...............................................................................

(33) ‘=8=F= BsHrecs on RO ¢?
wEEfersE Came (@l La(BdsTer Galamev) GTeU DITEL 6TeurenT P

What is a cyclic work?

.............................................................................................................

(34) son scos SecB odxie wepsl  BOsYs.
UetrespaserasDnisE oUW fleners ST OES
Give the full name of the following.

) S AT B 7 ocilireninssesaitserssbsiasbunnasis csssones sassosssenstacrons S USUNERNIREIEE o a5 -- - onemonnrenfnsaspoossaneed
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(35) Dot 0By :8n o O ¢?
uns &SLIULTS Qs auemsowl Quu@S.
Name a type of work Bach did mot compose.

.............................................................................................................................................

(36) emnmgenm OOmw emddy, wdsl @l g8xim.
QUITEBSSILHD USEMSS QSNCFUIG), YYser Sp Cary (hs.
Pick the odd one out and underline it. ,
(a) Mozart (b) Bizet (c) Schubert (d) Haydn

(37) wrededormnd® s8ec -Bn €D eCoOS D BSHIH.
angLetBsn’ GRuLUSHET Qess spalser @petnger GUweTs GOLILIGS.
Name two instruments of the harpsichord family.

(38) Buwoerd ‘Gewd® wzy @ ¢?
LNunGesrr (AGwm eTesT DTG 6T6vT6e0 P
What is a Piano Trio?

.............................................................................................................................................

(39) ‘esBcoimd Bms vy O ¢?
QuTaIBremed @)evs eT&TMTED 6TEHTET P
What is Polytonal music?

..........................................................................................................................................

\

(40) ©9149® 98> OmwD Wiy el aBzisy. —

SoS< o< g

UTLGUL &S iy w YSGSHesr Sp CaHmig (s oo',:',:"":
Underline the composition that has singing%V
(a) The Well-tempered Clavier (b) St. Mathe assion (¢) The Pastoral (d) Swan Lake

(41) o> goed ‘ccds Desdds’ »® Oz,

Garam.lk

..........................................................................................................................................

\

'

shsnevgensi Bumsds 6LIGH
Name a folk opera in the

(42) son wens? ol ewe®Oc -G8 efdw tews’ o=,
Lisreiib @ Ssmeluls USEsehsG B Hos SESHDTS Shs.
Give the English meaning of the following Italian terms.

) TEON DTIO < s mmsms mis s s asmmais vawe e s i snteisins S s s s s atists St b arsarsfm v e e e s e el

CIYERARESIOR0! .ot wimmnitis oo dins foies S me s S Ao SRS HVAA SRS S0 5550 8 ine sttt sttt et i pitemaiete s wamre B

(43) ‘38 =85 wreEDw »® wOD.
261 GG Lpaw S swaleows GLw RS,
Name a reed pipe instrument.

.............................................................................................................................................

(44) ‘@¥OCHOD ez’ dece »® @mOsles? O Rewo ¢?
Qeigpurl sGLeiet ererl QUuALLILReIg T ?
Why is the interrupted cadence named so?

.............................................................................................................................................

(45) PO8S e3:Bmed F 20 90 68568m @:-8mews’ @i Oies) @ e?
Buewesilsu ¢mdssdes Faril Qg SopsGsu smdsssen FIODTGTSTS OO 6TS ?
What is the oriental equivalent to a ‘F sharp’ in Western music?
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(46) ‘c0082ID ceOsie’ emd® O JBY e BmEmes. 300 eem »® ®EsID.
QLmAewern GFeueaid G&TL. GRe e qwi. @ uesig-er BFIESWTSLD. e perpL! QWGBS
The chord of the Dominant 7th is a combination of two triads. Name them.

) T P PP TRIIEY (b)

47) ‘@IBBLE’ endd Ot oy 20 ¢?
@&sAwf Gprl eTeTUG WG ?
What is an ‘Auxiliary’ note?

...................................................

............................................................................................................................................

(48) OBz wewo 08 OOmw Eusi.
Bouid TG GSSE LI WG P
What is the Latin word for ‘work’?

.............................................................................................................................................

(49) ‘@o% 8z widn =iy cATes OB B6@BOG eemd ¢?
ung evullesiat LweTLI(H SSRGS 6T eureor BBr&sSHHSTHAITSGD P
For what purpose are bar lines used?

.............................................................................................................................................

(50) ‘csIB8 353D e’ Desdd SOZN e
Gurred el Gued QRCLITT emal 6I(PI G wmg P
Who wrote the opera ‘Porgy and Bess’?

...............................................................
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Booe 00 ec®¢ 3¢ s & g». W’
Amger, SO LgEseT B STLILL(hereneoT.
Sinhala and Tamil terms are given below.
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(1) e g B DO ceons] B8sl o®=iln Ond. vun sews 3085 OO @Eeesd 20 Bo wpdexs
O ¢? 8880 83 @b glsio.
SrLILL (Herern @eveL QUWILIL Qenier @ermed YSSLILILLSTGLD. LNevralpeueral ppyei LOSLI QuUTBSSLOTET

Quuy erg ? afeuler &b Gamy-R&.
The given musical extract is a composition by Chopin. Which of the following would be the most appropriate

name? Underline the answer.
(a) Mazurka (b) Military Polonaise (c) Sonatina

(2) do D eox® e ¢?
@g eeier Gumb @b eeieng ?
In what form is it?

.............................................................................................................................................

(3) @B B O 8> Beten® B Omdn ¢led ¢?
@evs QuuLiLle) YTHNSESLD Sib eTEsomen powp Gsrerpid ?
How many times does the opening theme appear in the extract?

.............................................................................................................................................

@) v5 020 eomOO OB® 8O G000 gmpOews’ (O ol 0@ ©ensl DOBID.
gL LD QTLIFAUTEHS Bgrarmd @Gy MGLb Bamevger LMY 6T dener & GOLLIBS.
Give the bar numbers where the same rhythmic pattern appears consecutively seven times.

...................................................... f&n&

(5) ‘G’ e O g i0Bedes’ e»d0 O ﬁuq@m 08 650995 ecms wens’ wOBID.
G Gpr. @er SyerNALGUFeT GETL 55 Gomeipib Ury eewisen @ ey eewd GOUILGS.
State the numbers of two bars where the note ‘G"W” a note of anticipation.
= g
e

...........................................................................................................................

............

6) csv&zﬁ) AeDen® Bmd © vIdn BE® G4 ‘st O O B»izD.
Qanel QUL Zf1g SS5LY- LwerL@ésith Prerewernh g QuUUAGIS.

Name the ornament useau axra m ,
............................... TIAT ALK

(7) @95 238 ‘cdesd’ Oers 36085 38 Bors o500 @uiodE O o BOSD.
g 23 @er Guen 1 @ed 3gerg Up @ar ured Gpried @erGreased Qe Quuegs GPLILIBS.
Name the interval of the Bass notes of the 3rd beat in bar 23.

.............................................................................................................................................

(8) 7¢O @b Doz 980508 sl00cE O 0D wOwE FERTID.
Toeug umy @er @@L DIL QerpGated &8 LA LGS STLHS.
Circle an augmented interval in bar 7

(9) 088 emdd et 0D ‘BBRED 508 @rlodc s 00 »Ows &% B30 ‘A’gede ewIesID.

Fuil. G e GHeimd Ly Lheoevl 5YaIZ) QeiBrouc g LB RS ST, ASHS A eI pSParTed GBS
Circle a diminished 5th interval appearing as tied notes and mark it with letter ‘A’.

(10) &% 138 c0cd 88 o dv Dueme BBOO Bg O gm0 gtIms o BisID.
ung 13 @er GuGeumy. euufles e plener Qoss@blung BOLOLDOImS oo b EAMOES
Notate the melody line in bar 13 as it has to be played. '

L

(gozsd 80 Bcz¥m / wpudsd LTSS / Please turn over
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...........................

G 2 3 7 B qomca}

(11) 7 608 a8 ders 300 OB 620 w0 081 OB @BOCHO O wswzis.
7 gyeugy uny Qer @mig GwGeomy Gl @@ Fwwrer earapTiGureais méGauowearn RS SBS.
Give the enharmonic equivalent of the last melody note in bar 7.

(12) 2d® Om2s? ‘OBl me gn A0 ¢ElcdD Berek, -8news wIbn Bl ged emetd &7
@rm. @arpeh eTibLienFed QEFUNUILILILL eLewd HTLHEUSDES Qesulled LwSTLRSSILGL GOWG wrg ?
Illustrate the sign used in the music to indicate that the note is to be emphasized.

.............................................................................................................................................

(13) 900 98¢ ece DI WO CAD B8 eV RV ¢? 88060 wds? @b glsts.
15 Qugers @esssuu@h Qosliucd g ? aloruar $p Gamy LBs ST HS.
Which part of the music is played softest? Underline the answer.

(a) The beginning (b) Middle section (¢) The end

(14) B O wens? 6, 6610 eesn® Wdn BE8z3 28 OB AN doxd 64edR 3O O BEInd ®SzI.
& s QUuAGLGLITE Gumoer @evsadde LweLIBSSILGD 28 weug LTy Qeor 2 90ug Ub & alufiss.
Describe the 2nd beat in bar 28 using Roman figures, naming the key.

.............................................................................................................................................

(15) e3:8 dedOewB gdemed g ‘ezl »® »isIH.
Qoo Quuislesr @mduled o eirer sBLee &L QUWHRS.
Name the cadence at the end of the extract.

(16) c®® e3:Bmeed ‘emdDr Bed ¢? @ [ oy

e 88n3 0D »d dwd Do ewig ‘B’gfede c@;o
Qo @weuled Garm @) GsHerpsT P b / Yool ;’: =
o 105 aflor ‘b’ eTevlen & FEe vl LIL|&GmuIL B % GPUI®RS.

Is there a ‘coda’ in this music? Yes / No
If your answer is ‘Yes’, bracket it and mark it with the letter

(17) ‘emazd 38® wpneds’ qeqwt:f @zsf a ra I I ' , ,(
Q&merr 9o eTeTLIFSET H(hd

What does ‘con anima’ mean?

5 ’

.............................................................................................................................................

.............................................................................................................................................

(18) ‘PC’e@ace oo of®s G 0828 8 sbecmO ‘erisied’ O crey »Cuim.
PC Gavueenls LwerL®ss G eowery @er GuiGUE. sCLarad $& GOLILIGS.
Mark a perfect cadence in ‘G minor’ using the label ‘PC’.

(19) c®ecoBn @ulodd dms oce ¢Hcdm ¥l Jud dm gfes p®m Y derst ¢?
GOuwGery &5 QearGraaier 2 ereneurn Ggresrpb Gogr FuwL @er ury wig ?
Which bar has a major triad appearing as a melodic interval?

.............................................................................................................................................

(20) @8 3:8m» dedDES COmwWIed w@moEHwr 0 O,
QU QuuiLieT SSGETGELY FaTel Quuimers GBILILIGS.
Name a contemporary of the composer of this extract.

.............................................................................................................................................
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6O /ue® II/PART I
D% ® gele ecomd 88ad e3BWBID.
sTeraGugh @UeHB alaTTSsEhSS aflenL weh&@s.
Answer any two questions.

2. QA wo O wecd 908m 68z sun gHs 6B 58880 5 = s Yridends niTH. B0 B B3Ol

Buztm. (a), (b), (¢), &» (d) ©¢ @5300¢@ Btdnd ndzsiD.

QuLien, Queny Hoena LI LwesI(h&S, Lietra(pLb o epLIL@GHIET 19 efeil 5 @i Guoed preELGLTED GFUIS. ydu &

AE5BerFFenT T (LPGI -

Transpose the following passage up 2 diminished 5th, using treble and tenor clefs.

Write the new key-signature. Describe the intervals at (a), (), (c), and (d) :-

S e
= P e
— 7 o e~ |
) . @ ® © @
v < o h7 i ] = ! —4 o—
I - } : %U = i’ [ jgliii;? i
INterval ; (@) -  eveeeesseeeesenassnesssinnesend A 7 S TSI A S
() CONNROPRIN RIS — ,_sescisissas s spaigsenes st ense Rt
":':""""0
3. (a) c®® Yud et e @S emelm 976005 %/ goeGImnen ©d @Oesdnes 230D O (a) 8
Buzis. & BJIesidY §cO ewog ees8e0dsied BSct . WO, e ©8m 2353,
Qe pwr Qeir GHIL Qe @LuGLpb euprGomieis cowery ebBssc et BTEHEID DYaUBrrTEuLOTS QHBTe
Qeipever (a) Qb 1P aiugded & AiBerésamn Feuret o6 QFAHBIEEL 85 @BUIBS. @Bl GpT e

At (a) write one octave n
occur. Prefix the key-sig

0

U Lwe(hFE S
@ th nic/ mindr sc hich the notes of this triad
ANdudt tones slurs. Use \Y

Ena

v

(a)

(b) B8 ©8E =l D€ 6/8 028 B OO 20 ceBFOOUE 6wy O E @t 8decsiol wdw, c®eEidx’
05098 dedce, edD O goesInen 0 a0esdnen ece (b) 8 Busle. B 86Ol ©o 088 BdesIOY
§eO ewog, 58 88600 o6t ©dn gOwID B O esBben 205ID.

Ffunss gl O racL 6/8 guib Qe @Beuen, QFAGSuTN 8 Qsfaesug E gl ASBerdFFy o L6t
QuBeriy & GBumoHrs aBsemer @&Bral GRed lener Byraemh 2alGFTaeILoTS (b) Qe eTWaS
2AsGargar, gulh ASGeTEFT YIDUSHED @QLrE, efurear @urEde GraiL oLer @mg uri & ursd
QFUS.

At (b) write in properly grouped quavers and semiquavers in 6/8 time, the Melodic Chromatic scale with the
Major signature of E, one octave ascending and descending.

Prefix the Key-signature and Time-signature and complete the final bar with rests in proper order.

(b)

MeEa s 4

(geed 890 AcsI» / gL UTTES / Please turn over
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(c) 08 wecd 08n =Bz eewd8FO D853 eDBws? &I O Busis.
Qe HQenal g LweTL@PSH, QFlNper @6 QLruer Gum @ed 15,
Write the Dorian mode in Semibreves using the Tenor Clef.

4, mon wewsd ¢ 9es3He DOBID.
Nesraupeueaypenp Q@ULNL®, Caumiu®S)&.
Compare and contrast the following:

Episode - development section
Waltz - Minuet

Introduction - Prelude

Opera - Oratorio

(goms 8O dczy / wpibsid UMTES / Please turn over
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(a) B3 em0Q 5060 O@d Ve BisID.
QauppPLmisemer B, YLLemeweul] LTdd GCFus.
Fill the blank cages and complete the grid.

Composer Name of work Type of work Description

Shakespeare wrote a play and composers used
S AR R (g e IR A e e R it for an opera and a symphonic poem.

The piece in Jazz style was composed while
D N e e s, | S AT R SRS S SR travelling by train in the United States of
America.

(b) &Bw, cosl Obew @y Bsled cOns B wuuds? gun tews? Onds 88d¢ emd wdws? Busis.
Qaurib, Lpks UL, ssEsen YAuaipep emd, Gulan GULILILL ysseTiser LbHE FEE5E GOLL 6TLps)s.
Write short notes about the above mentioned composers giving the nationality, year of birth and another
composition by each of them.

/".

(ot 8O @deoiey / wpriss wumiss / Please turn over
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(©) () ‘@nd0 w08 BABEI urneren ' Boesd OBme 0 Oy »H® WS,
QY&GTLL wereumull FUWET ovevveveennns unLalesr auens, Sb@erfler QUi JAWeID®D 61 (PSS
Name the composer and the category of the composition ‘Akurata Yanavahi Kiyala ...... ’

COIMPOSET 1 v.vueervrinesaernnssernnssnnnsssenissenns (0717710 AT UUR TIPS PP PP PRPR RIS

(i) evRo ©8med ‘6@’ ©W8nOTIes 2O gogens’ ¢ 8 B8 BT,
S pSBow FEISSSHD 2T HT pwerLRSSLILRUG TSEOSTL L) 6T eur aflen&@s.
Explain in what connection ‘Uraga’ is used in oriental music.

....................................................................................................................................

(iii) ‘goec Il @ve® SO OFF ...... ’ 8w gmed 20080 0 eerBa 58 m»3sID.
9B Upbs 01B& [FOLEW QUG ......... urLalled o_efer [BLELh, LITEE 6TeurLie HenpLl QuuABS.
Name the style and the drama from which the song, ‘Ale bande mage ramya van’ is taken.

....................................................................................................................................

(iv) ‘B8 86 BEed ...... ’ 0 Obwed Bmes ¢?
Aevrerngd Am RAeMGw ......... CTQIGUGMSHUITET LITLGUTEGLD P
To what category does ‘sinnachi chiru kiliye’ belong?

....................................................................................................................................

M @063 \[Li@g III/PART I
D2 ® yaE» 88ns; wBwsID.
cewaGuayh BUew® el ssensGahmL uelsGs.
——— S<ad

Answer an
= =

6. (a) DROGEEd »® w O §Os®ms oD Bew 306 ¢ =3 atege @0 cad »® »osID.
sAw yAfufesr G, Seufiedr LML SGED HAUGIDDIL T L FTSG|eneutt BTGOF6T BIbHEHETLI QuuwA(HS.
Name five reference books giving the names of the authors and the subject areas coyered.

.......................................................................................................................................

.......................................................................................................................................

.......................................................................................................................................

.......................................................................................................................................

4
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(b) Buoexndd ‘sbByesy’ w8m 01e3eR. S nx wIeddus ¢ Bu V. BD du BLODHG BOTess emedd ¢? Ved
8Endd ey HOSH.
NunBerr, Guisgse @I Qoss spalursh. @& RG FILUS sGalurs @ Gdsenh. @ somer ealemm
uemsLIL(hSFZefT P FHTTCUIEISF®ENS H(FS.
The piano is a percussion instrument. It can be a string instrument. How would you classify it? Give reasons

for your answer.

.............................................................................................................................................
.............................................................................................................................................
.............................................................................................................................................

.............................................................................................................................................

.............................................................................................................................................
.............................................................................................................................................
.............................................................................................................................................
.............................................................................................................................................

.............................................................................................................................................

©) & B 6 O¥e sod Sudnd =0, O B0OBO ey ©wdn »stes? ¢8 ez’ DOBID.
@mrﬁ‘fma;uﬂgg/msﬂ QBuoen eusws e (BSTMH & F61T) BMbHeneuTiLd Jemeu eTeiTer GBTSSSAMHTHI LILeLI(BHSHLILIHHTT D
&r eTeLISBUd aflarf&s. ——

Describe five types of Sri Lankan drum

urpose they are used.

(gooed 890 dczd» / wmpissnw wmiss /[ Please turn over
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7 sOD Benst 85 Deds et & g 88 B8 ecw 0iGO8s 600 wIREY VIeLInBL WSBIH.
Nesraupid @evsrs Quulieny STLLUULGeTeneuTn bIerE UGHSeanTs anmiGmeneread 6lFuls.
Harmonize the following in four parts modulating as indicated.

s

N Ay J@l

| |
- — o e &=

s —
()]
e rip
S ey
D major B minor A G D

(go 89O dczde / wmpssw wmiss / Please turn over
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1 2 3 4 5 6 7
I N W T 0
s z—2 1o ¢ =
b e T P
.51 J -ei | J o

i

QB 206D et dert gom ewy eID v §B.

CupEnss anriGurel LGHWD agup GsTLad 2 efere.

O

There are seven numbered chords in the above harmony passage.

(a) BNGE emid oo emIm, FOed gom B0, J01 O Orles’ @ Bewo ¢8 wews? »OTD.
nhs suprer Gsriet g CsNCsGSH, el Gariev Qe Qessrsmens GPULIL®, T o Saip
mesremel eTenrd GMILILNGBS.
Find five incorrect chords, give their numbers and state why they are incorrect.

(b) Bug ® 968 BOGE ©S82Y gun & B ©-8n JedDw ;O» Eusld.

Bupenss [osl LGH &

Rewrite the above passag

garamik

® 8B w0 ecd¢ B suwn & gm.
FAmigen, HLOPL LgmSGeT $Bp SrLiLL (Henened.

Sinhala and Tamil terms are given below.

Doesz3IBe - goeddwen eTQFeuLY /Bl - YBursewid
BowsIBe - gdelddnen 19 Q&FerrLg s - YeuBurseniib
3D - &390 (€] - @veuyLb
@uI00E - 3060t Ge @ arrGessd - Qe Qeuerf
©5edd - 860®w Q@ penL. - ey
RFcOD - odnmae R&EBral - &Liglb

8¢® - Bdow AgLb - &bglb

30 - ®ozpo [37,5) - rSHeg
cea®c0ds? - 306 wivs Q&G TTesr - UNHS@ Grer
okt - oB¥yben 305w Qe - (WS STe
Poztedeesded - oG B8O Comere@umet - LT HMIEED

R—

—

—

ST






